PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		282.0	700.00	197,400	lbs.	\$108,570
Seed - Non-irrigated		282.0	1,120.00	315,840	lbs.	\$15,792
Cotton (Total)		282.0				\$124,362
FORESTRY						
Pulpwood						
Pine				168,881	cords	
Hardwood				27,248	cords	
Pulpwood (Total)				196,129		
Chip & Saw				69,660	cords	
Saw Timber						
Pine				16,783,714		
Hardwood				2,868,903	board feet	
Saw Timber (Total)				19,652,617		
Total Pulpwood, Chip & Saw	,					\$28,402,755
Saw Timber FOB Mill						
Total Forestry Stumpage						\$14,833,390
Forestry (Total)						\$28,402,755
FRUITS						
Mayhaws						
Native	21	140.0	50.00	7,000	lbs.	\$7,000
Mayhaws (Total)		140.0				\$7,000
Fruits (Total)		140.0				\$7,000
FEED GRAINS						
Grain Sorghum	*	148.0	40.00	5,920	cwt.	\$21,371
Feed Grains (Total)		148.0				\$21,371
HAY FOR SALE						
Grass	10	300.0	2.00	600	tons	\$30,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Units of Production Measure	Gross Farm Value
Hay for Sale (Total)		300.0			\$30,000
HOME GARDENS	1,000				\$300,000
SOYBEANS	*	206.0	28.00	5,768 bu.	\$35,819
VEGETABLES					
Southern Peas (Fresh)	7	35.0	75.00	2,625 bu. (24 lbs.)	\$65,625
Vegetables (Total)		35.0			\$65,625
TOTAL ALL PLANT ENTER	PRISES				\$28,986,932

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS				29	pelts	\$213
ALLIGATORS (WILD)				22	ft.	\$473
HUNTING LEASES						
Waterfowl	10	1,000	No. Acres Leased		acre	\$75,000
All Other Game	100	250,000	No. Acres Leased		acre	\$1,375,000
Hunting Leases (Total)						\$1,450,000
TOTAL ALL FISHERIES &	wildlife enterprises					\$1,450,685

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					_
Steer Calves					
300-400 lbs.			250	head	\$110,723
400-500 lbs.			400	head	\$201,924
500-600 lbs.			200	head	\$111,815
600-700 lbs.			100	head	\$63,700
Steer Calves (Total)					\$488,162
Heifer Calves					
300-400 lbs.			200	head	\$80,633
400-500 lbs.			400	head	\$186,030
500-600 lbs.			375	head	\$197,938
600-700 lbs.			100	head	\$59,800
Heifer Calves (Total) Yearling Cattle					\$524,401

ANIMAI	ENTERPRISES	PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of	Gross Farm Value
	Tioduccis	Troduction		Troduction	Wicasuic	v aluc
CATTLE & CALVES				105	1 1	\$70. <i>(</i> 25
600-700 lbs.				_	head	\$79,625
700-800 lbs.				150	head	\$103,500
Yearling Cattle (Total)				105		\$183,125
Cow-Calf Pairs					pair	\$118,750
Cull Cows					head	\$92,393
Cull Bulls	0.7	• • • • •	N. G	50	head	\$45,923
Cattle & Calves (Total)	95	2,900	No. Cows			\$1,452,753
HORSES						
Brood Mares						
Recreation Horses	10	80	No. Brood Mares	60	head	\$90,000
Brood Mares (Total)						\$90,000
Show Horses	50				head	\$600,000
Recreation Horses	250			750	head	\$1,125,000
Horses (Total)						\$1,815,000
GOATS						
Slaughter Goats				250	head	\$26,250
Cull Goats				50	head	\$3,000
Goats (Total)	15	250	No. Does			\$29,250
SWINE						
Feeder Pigs				120	head	\$5,520
Slaughter Hogs				150	head	\$23,400
Culls				10	head	\$1,120
Swine (Total)			No. Sows			\$30,040
TOTAL ALL ANIMAL EN	ITERPRISES					\$3,327,043
LASALLE PARISH TO	OTAL					\$33,764,661